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QUESTION 1

Which of the following statements about MME load re-balancing is TRUE?

A. eNodeB selects an MME according to weight factors received from the MMEs in its serving pool.
B. eNodeB selects an MME with the lowest order value in the DNS NAPTR record.

C. MME is configured to offload some registered UEs to another MME in a different MME pool area.
D. Affected UEs are signaled to release their S1 and RRC connections.

Correct Answer: D

Reference: https://community.cisco.com/t5/service-providers-documents/load-balancing-and-re-balancingof-mme-and-
offloading-process/ta-p/3140328

QUESTION 2

Which of the following regarding PM is FALSE?

A. PM counters contain system health information on a specific VM.
B. PM counters are stored in XML format.

C. PM counters are collected on a per-interval basis.

D. A PM job is defined to collect PM counters.

Correct Answer: D

QUESTION 3

Given the exhibit, if GTP-C load control is used, which SGW will have the highest probability of being selected by the
MME for new session requests?

Order | Preference |Flags | Services Replacement

200 55535 “a” x-3gpp-sgw:x-s5-gtp

200 25535 “a"  x-3gpp-sgw:x-s5-gtp

topon.eth9.sgw02.pooll.nodes.3gppnetwork.org
topon.eth9.sgw04.pooll.nodes.3gppnetwork.org

SGW Calculated Relative Available Load

spwi2

15%

sgw04 10%

A. sgw01
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B. sgw02
C. sgw03
D. sgw04

Correct Answer: A

QUESTION 4

Which of the following MME interfaces uses a protocol OTHER than GTP-C or Diameter?
A. S1-MME

B. S11

C. S6a

D. SLg

Correct Answer: A

Reference: https://www.cablefree.net/wirelesstechnology/4glte/lte-interfaces/

QUESTION 5

Which of the following statements best defines S-TMSI?

A. A permanent, unique identification of a mobile subscriber in the GSM/UMTS/EPS system.

B. A network that provides mobile communication services to the public.

C. A globally unique temporary mobile identifier used to hide the subscriber\\'s real permanent identity.
D. An identifier assigned by the MME that uniquely identifies a UE within an MME pool.

Correct Answer: C
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